[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

2 4 6 8 1012 14 16 18 20

track x?

(%] %] [%]
g 2 3
8 g g
Q Q Q
=] X -
5102 = 8
[=%
=]
=l
o
I
[hd
oose AT EEEF - FEERE - F-F -+ - B 0.9 HHA EEERR - FEER - k-5 |- 1] - - Do oo :
0“(J24632]01214]()1820 O'“L 8 10 12 14 16 18 20 0'U2433101214101823
track x2 track x2 track x2
DOM_mkFit_QCDHighPt_base
N of reco track vs. DQM_mkFit QCDHighPt_retrain
(%] 12}
x X
S S
g g
s ©
=) X
=10? 810




	Contents
	Page 1


